iMUDGE

= FASTENERS, INC.

41mm
s/ "

P4121 ¥
: 115787 “
P4141 P 'I ™.
— +—f tisien
127 men i
22, Slots 14mm (1/27) wide - 50mm (2.07) on Center
: " [13/167]
20mm  ane
[13/167]
4101:1!'“
[15/87
Part Number Description Pkg Qty
P4121-TPG Slotted 13/16" x 1-5/8" Pre-galv 14 Gage - 10 ft 500 ft
P4141-TPG Slotted 1-5/8" x 1-5/8" Pre-galv 12 Gage-10 ft 500 ft
P4141-PG Solid 1-5/8" x 1-5/8" Pre-galv 12 Gage-10 ft 500 ft
P4141-T20 PG Slotted 1-5/8" x 1-5/8" Pre-galv 12 Gage 20 ft 480 ft
P4141-20 PG Solid 1-5/8" x 1-5/8" Pre-galv 12 Gage 20 ft 480 ft

Part Number | Description Pkg Qty
ATR-250 1/4"-20 All Thread Rod 500 ft
ATR-375 3/8"-16 All Thread Rod 250 ft
ATR-500 1/2"-13 All Thread Rod 120 ft
ATR-625 5/8"-11 All Thread Rod 80 ft
ATR-750 3/4"-10 All Thread Rod 50 ft

(800) 634-0406 - sales@mudgefasteners.com * www.mudgefasteners.com



iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
LO1-1/4 1/4" Square Channel Washer 100
L01-3/8 3/8" Square Channel Washer 100
LO1-1/2 1/2" Square Channel Washer 100
LO01-5/8 5/8" Square Channel Washer 100
L01-3/4 3/4" Square Channel Washer 100
LOIT-3/8 3/8" Square Washer - No Twist 100
LOIT-1/2 1/2" Square Washer - No Twist 100
L09 2 Hole 90 deg 1/2" 1-7/8 X 2-1/16 100
1L09-3/8 2 Hole 90 deg 3/8" 1-7/8 X 2-1/16 100
L09-A 2 Hole 90 deg 1/2" 1-5/8 X 2-1/4 50
L10 3 Hole 90 deg 1/2" 1-7/8 X 3-7/8 50
L10-A 3 Hole 90 Angle 1/2" 1-5/8 X 4-1/8 50
L11 4 Hole 90 deg 1/2" 3-1/2 X 4-1/8 100
L12-45 45 Deg Open 2 Hole 1/2" 2-5/16 X 3 50
L124-45 45 Deg Open 4 Hole 1/2" 3-1/2 X 3-1/2 10
L2 4 Hole T plate 50
124 4 Hole Splice plate 50
L25 3 Hole Flat Angle plate 50
PBSQEG Post Base Sq 4 Hole Base 10
PBSQ2H Post Base Sq 2 Hole Base 10

(800) 634-0406 - sales@mudgefasteners.com * www.mudgefasteners.com




iMUDGE

= FASTENERS INC.

Part Number Description Pkg Qty
L34E 3/8" Malleable Beam Clamp Plain UL 100
L34F 1/2" Malleable Beam Clamp Plain UL 100
L34EZ 3/8" Malleable Beam Clamp - Zinc Plated 100
L34FZ 1/2" Malleable Beam Clamp - Zinc Plated 100
L34N 1/4" Light Duty Beam Clamp 100
L34P 3/8" Light Duty Beam Clamp 100
L34A U-Bolt Beam Clamp 3-3/8" 50
L34B U-Bolt Beam Clamp 5" 50
C - g E"'-ﬁ."‘-—aa
. e

" = . s

@-" 2 s{’a - B2 Ces

@ = B S , | 3 - (w: >

e ’ -
i) >
Part Number Description Pkg Qty

PLO1-1/4 1/4" Deep Channel Spring Nut 200
PLO1-3/8 3/8" Deep Channel Spring Nut 200
PLO1-1/2 1/2" Deep Channel Spring Nut 3/8" thick 200
PLO1HD-1/2 1/2 " Heavy Duty Spring Nut 1/2" thick 500
PL02-1/4 1/4" Strut Nut No Spring 500
PL02-3/8 3/8" Strut Nut No Spring 500
PL02-1/2 1/2" Strut Nut No Spring 3/8" thick 200
PLO2HD-1/2 1/2 " HD Strut Nut No Spring 1/2" thick 200
PLO3-1/4 1/4" Shallow Channel Spring Nut 200
PL03-3/8 3/8" Shallow Channel Spring Nut 200
PL03-1/2 1/2" Shallow Channel Spring Nut 200

(800) 634-0406 - sales@mudgefasteners.com * www.mudgefasteners.com



iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
T41-015 EMT 1/2" Pipe Clamp 100
= [T41-020 EMT 3/4" Pipe Clamp 100
S [T41-025 EMT 1" Pipe Clamp 100
LLl [T41-032 EMT 1-1/4" Pipe Clamp 100
T41-040 EMT 1-1/2" Pipe Clamp 100
T41-050 EMT 2" Pipe Clamp 100
Part Number Description Pkg Qty
R41-015 Rigid 1/2" Pipe Clamp 100
R41-020 Rigid 3/4" Pipe Clamp 100
R41-025 Rigid 1" Pipe Clamp 100
O [R41-032 Rigid 1-1/4" Pipe Clamp 100
{0 [R41-040 Rigid 1-1/2" Pipe Clamp 100
m |R41-050 Rigid 2" Pipe Clamp 100
02 [r41-065 Rigid 2-1/2" Pipe Clamp 100
R41-075 Rigid 3" Pipe Clamp 100
R41-090 Rigid 3-1/2" Pipe Clamp 50
R41-100 Rigid 4" Pipe Clamp 50
R41-150 Rigid 6" Pipe Clamp 50
Part Number Description Pkg Qty
D41-015 Pipe Clamp 5/8" OD 1/2" CPS 100
D41-020 Pipe Clamp 7/8" OD 3/4" CPS 100
D41-025 Pipe Clamp 1-1/8" OD 1" CPS 100
0 [pat-032 Pipe Clamp 1-3/8" OD 1-1/4" CPS 100
d D41-040 Pipe Clamp 1-5/8" OD 1-1/2" CPS 100
D41-050 Pipe Clamp 2-1/8" OD 2" CPS 100
D41-065 Pipe Clamp 2-5/8" OD 2-1/2" CPS 100
D41-075 Pipe Clamp 3-1/8" OD 3" CPS 50
D41-100 Pipe Clamp 4-1/8" OD 4" CPS 50

(800) 634-0406 - sales@mudgefasteners.com *+ www.mudgefasteners.com



iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
CH-015 Clevis Hanger 1/2" Plain 50
CH-020 Clevis Hanger 3/4" Plain 50
2 |CH-025 Clevis Hanger 1" Plain 50
E CH-032 Clevis Hanger 1-1/4" Plain 50
=l [CH-040 Clevis Hanger 1-1/2" Plain 50
0. |CH-050 Clevis Hanger 2" Plain 50
CH-065 Clevis Hanger 2-1/2" Plain 25
CH-075 Clevis Hanger 3" Plain 25
CH-100 Clevis Hanger 4" Plain 25

Part Number Description Pkg Qty
CHZ-015 Clevis Hanger 1/2" Zinc Plated 50
o CHZ-020 Clevis Hanger 3/4" Zinc Plated 50
L |CHZ-025 Clevis Hanger 1" Zinc Plated 50
= |CHZ-032 Clevis Hanger 1-1/4" Zinc Plated 50
<L (CHZ-040 Clevis Hanger 1-1/2" Zinc Plated 50
E CHZ-050 Clevis Hanger 2" Zinc Plated 50
CHZ-065 Clevis Hanger 2-1/2" Zinc Plated 23
CHZ-075 Clevis Hanger 3" Zinc Plated 25
CHZ-100 Clevis Hanger 4" Zinc Plated 25

Part Number Description Pkg Qty
CHF-015 Clevis Hanger 1/2" Felt 50
CHF-020 Clevis Hanger 3/4" Felt 50
- CHF-025 Clevis Hanger 1" Felt 50
wed |CHF-032 Clevis Hanger 1-1/4" Felt 50
L [CHF-040 Clevis Hanger 1-1/2" Felt 50
L CHEF-050 Clevis Hanger 2" Felt 50
CHF-065 Clevis Hanger 2-1/2" Felt 25
CHF-075 Clevis Hanger 3" Felt 25
CHF-100 Clevis Hanger 4" Felt 25

(800) 634-0406 - sales@mudgefasteners.com *+ www.mudgefasteners.com



iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
C41-010 Cushion Clamp 3/8" OD Per Request
C41-012 Cushion Clamp 1/2" OD Per Request
C41-016 Cushion Clamp 5/8" OD Per Request
C41-019 Cushion Clamp 3/4" OD Per Request
C41-022 Cushion Clamp 7/8" OD Per Request
C41-028 Cushion Clamp 1-1/8" OD Per Request
C41-035 Cushion Clamp 1-3/8" OD Per Request
C41-041 Cushion Clamp 1-5/8" OD Per Request
C41-054 Cushion Clamp 2-1/8" OD Per Request
C41-067 Cushion Clamp 2-5/8" OD Per Request
C41-079 Cushion Clamp 3-1/8" OD Per Request
C41-105 Cushion Clamp 4-1/8" OD Per Request

(800) 634-0406 - sales@mudgefasteners.com * www.mudgefasteners.com



iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
BH-015 Swivel Band Hanger 1/2" 100
BH-020 Swivel Band Hanger 3/4" 100
BH-025 Swivel Band Hanger 1" 100
BH-032 Swivel Band Hanger 1-1/4" 100
BH-040 Swivel Band Hanger 1-1/2" 100
BH-050 Swivel Band Hanger 2" 100
BH-065 Swivel Band Hanger 2-1/2" 60
BH-075 Swivel Band Hanger 3" 40
BH-090 Swivel Band Hanger 3-1/2" 30
BH-100 Swivel Band Hanger 4" 20
BH-101 Swivel Band Hanger 6" 20
BH-102 Swivel Band Hanger 8" 20

-,

Part Number Description Pkg Qty
BF-015 Swivel Felt Band Hanger 1/2" 100
BF-020 Swivel Felt Band Hanger 3/4" 100
BF-025 Swivel Felt Band Hanger 1" 100
BF-032 Swivel Felt Band Hanger 1-1/4" 100
BF-040 Swivel Felt Band Hanger 1-1/2" 50
BF-050 Swivel Felt Band Hanger 2" 50
BF-065 Swivel Felt Band Hanger 2-1/2" 20
BF-075 Swivel Felt Band Hanger 3" 20
BH-090 Swivel Felt Band Hanger 3-1/2" 20
BF-100 Swivel Felt Band Hanger 4" 20
BF-101 Swivel Felt Band Hanger 6" 20
BF-102 Swivel Felt Band Hanger 8" 20

(800) 634-0406 - sales@mudgefasteners.com *+ www.mudgefasteners.com



iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
RC-0750 Riser Clamp 3/4" - Plain Per Request
RC-1000 Riser Clamp 1" - Plain Per Request
RC-1500 Riser Clamp 1-1/2" - Plain Per Request
RC-2000 Riser Clamp 2" - Plain Per Request
RC-3000 Riser Clamp 3" - Plain Per Request
RC-4000 Riser Clamp 4" - Plain Per Request
RC-6000 Riser Clamp 6" - Plain Per Request

Part Number Description Pkg Qty
2540154 4" Spiral Duct Cushion Clamps Per Request
2540155 5" Spiral Duct Cushion Clamps Per Request
2540156 6" Spiral Duct Cushion Clamps Per Request
2540157 7" Spiral Duct Cushion Clamps Per Request
2540158 8" Spiral Duct Cushion Clamps Per Request
2540160 10" Spiral Duct Cushion Clamps Per Request
2540161 12" Spiral Duct Cushion Clamps Per Request
2540162 14" Spiral Duct Cushion Clamps Per Request
2540163 16" Spiral Duct Cushion Clamps Per Request
2540164 18" Spiral Duct Cushion Clamps Per Request
2540165 20" Spiral Duct Cushion Clamps Per Request
2540166 22" Spiral Duct Cushion Clamps Per Request
2540167 24" Spiral Duct Cushion Clamps Per Request

(800) 634-0406 - sales@mudgefasteners.com *+ www.mudgefasteners.com




iMUDGE

= FASTENERS, INC.

—-

Part Number Description Pkg Qty
MB-1/4 X 1/2 Machine Bolt 1/4" X 1/2" 100
MB-1/4 X 3/4 Machine Bolt 1/4" X 3/4" 100
MB-1/4 X 1 Machine Bolt 1/4" X 1" 100
MB-1/4 X 1-1/4 Machine Bolt 1/4" X 1-1/4" 100
MB-1/4 X 1-1/2 Machine Bolt 1/4" X 1-1/2" 100
MB-1/4 X 2 Machine Bolt 1/4" X 2" 100
MB-3/8 X 1/2 Machine Bolt 3/8" X 1/2" 100
MB-3/8 X 3/4 Machine Bolt 3/8" X 3/4" 100
MB-3/8 X 1 Machine Bolt 3/8" X 1" 100
MB-3/8 X 1-1/4 Machine Bolt 3/8" X 1-1/4" 100
MB-3/8 X 1-1/2 Machine Bolt 3/8" X 1-1/2" 100
MB-3/8 X 2 Machine Bolt 3/8" X 2" 100
MB-3/8 X 2-1/2 Machine Bolt 3/8" X 2-1/2" 100
MB-1/2 X 3/4 Machine Bolt 1/2" X 3/4" 50
MB-1/2 X 1 Machine Bolt 1/2" X 1" 50
MB-1/2 X 1-1/4 Machine Bolt 1/2" X 1-1/4" 50
MB-1/2 X 1-1/2 Machine Bolt 1/2" X 1-1/2" 50
MB-1/2 X 2 Machine Bolt 1/2" X 2" 50
HN-1/4 1/4" Hex Nut 100
FW-1/4 1/4" Flat Washer 100
LW-1/4 1/4" Lock Washer 100
FFW-1/4 X 1 1/4" X 1" Fender Washer 100
FFW-1/4 X 1-1/4 1/4" X 1-1/4" Fender Washer 100
HN-3/8 3/8" Hex Nut 100
FW-3/8 3/8" Flat Washer 100
LW-3/8 3/8" Lock Washer 100
FFW-3/8 X 1-1/4 3/8" X 1-1/4" Fender Washer 100
FFW-3/8 X 1-1/2 3/8" X 1-1/2" Fender Washer 100
HN-1/2 1/2" Hex Nut 100
FW-1/2 1/2" Flat Washer 100
LW-1/2 1/2" Lock Washer 100

(800) 634-0406 - sales@mudgefasteners.com *+ www.mudgefasteners.com




iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
LS-1/4 X 1-1/2 Lag Screw 1/4" X 1-1/2" 100
LS-1/4 X 2 Lag Screw 1/4" X 2" 100
LS-1/4 X 2-1/2 Lag Screw 1/4" X 2/1/2" 100
LS-1/4 X 3 Lag Screw 1/4" X 3" 100
LS-3/8 X 1-1/2 Lag Screw 3/8" X 1-1/2" 100
LS-3/8 X 2 Lag Screw 3/8" X 2" 100
LS-3/8 X 2-1/2 Lag Screw 3/8" X 2/1/2" 100
LS-3/8 X 3 Lag Screw 3/8" X 3" 100
LS-1/2X 1-1/2 Lag Screw 1/2" X 1-1/2" 50
LS-1/2X2 Lag Screw 1/2" X 2" 50
LS-1/2 X 2-1/2 Lag Screw 1/2" X 2/1/2" 50
LS-1/2X3 Lag Screw 1/2" X 3" 50

|
»

Part Number Description Pkg Qty
CR-375 Rod Coupling 3/8" 100
CR-500 Rod Coupling 1/2" 100
CR-625 Rod Coupling 5/8" 100
CR-750 Rod Coupling 3/4" 50
CR-375500 Reducing coupling 1/2" - 3/8" 100

(800) 634-0406 - sales@mudgefasteners.com *+ www.mudgefasteners.com




iMUDGE

= FASTENERS, INC.

Part Number Description Pkg Qty
BMS-38 X 2 3/8" Wood Bottom Mount 100
SMS-3/8 X 2 3/8" Wood Side Mount 100
2535101 Sup-R-Drop 3/8" Anchor 50
2540171 Duct Fixing Z-Bracket w/pad 3/8" Per Request
2540170 Duct Fixing L-Bracket w/Pad 3/8" Per Request
2540172 Duct Fixing V-Bracket w/Pad 3/8" Per Request
2540581 Strut Vibration Dampening Mount Per Request
Cl10 C-Port 10" Roof Support Per Request
2540567 Wall Hanger Bracket - 25" Per Request
2540580 Mini Split Wall Bracket Assembly Per Request
EC-1 End Cap Deep Strut 100
EC-2 End Cap Shallow Strut 100
CFZ-3/8 Ceiling Flange Zinc 100

(800) 634-0406 - sales@mudgefasteners.com * www.mudgefasteners.com



